A & 0l & A

20208 = =& 4 3| JIEtSEAH A (&)

2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
5 Al 42,159,017 42,138,142 20,875 0.05%
ALY 40,068,900 40,075,514 N6,614 A0.02%
HWegs 1,632,545 1,632,545 0 0.00%
HE2HZH 457,572 430,083 27,489 6.39%
g 35,938, 108 36,229,764 A 291,656 A20.81%
ot - =2 34,088,558 34,331,525 N 242,967 AN0.71%
=22 H 1,943,243 1,943,243 0 0.00%
A2 (FEMEELSIH) 1,943,243 1,943,243 0 0.00%
22N 30,535,697 30,778,664 N 242,967 AN0.79%
STl (=ZEMESE3A) 20,150, 153 20,312,818 N 162,665 N 0.80%
Hesel (=T ALELFA) 9,891,142 9,971,444 80,302 A20.81%
ASABSTAY e (MZALSHIA) 494,402 494,402 0 0.00%
HWeegs(e3aA4n) 26,566 26,566 0 0.00%
BHENE(EMNEELSIH) 26,566 26,566 0 0.00%
HRas(AlgzelArga) 1,579,903 1,579,903 0 0.00%
SBENE(=ZEHNLEELSH) 1,579,903 1,579,903 0 0.00%
Heas 3,149 3,149 0 0.00%
SBENE(=ZEHLEELSH) 3,149 3,149 0 0.00%
HOI2 1,849,550 1,898,239 48,689 N2 .56%
HIlZ2 I8 XMel 1,849,550 1,898,239 A 48,689 A 2.56%
SUHS> ¥ EaMel(EMNLASESA) 1,849,550 1,898,239 A 48,689 A2.56%
INIE=PN 387,239 429,239 A 42,000 AN9.78%
JZdEEE 364,312 406,312 A 42,000 A 10.34%
NASS dgotd X2 364,312 406,312 A 42,000 A 10.34%
=220 (A=2=S0HIIS EL3AH) 364,312 406,312 A 42,000 A10.34%
HAAHSXE 22,927 22,927 0 0.00%
Hegs(Fasx4) 22,927 22,927 0 0.00%
EESESEIHEENE(AZ22S0HIISELS 22,927 22,927 0 0.00%

A

SEofl &=t 3,976,098 3,649,056 327,042 8.96%
s - 3,976,098 3,649,056 327,042 8.96%
sg3Eod 3,976,098 3,649,056 327,042 8.96%
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